
RC 200, blue - CKD 2024 <2024><PH><F5182X2>
EXHAUST SYSTEM

62438

Pos Part Number Description Additional Text Quantity

1 93105083000 Muffler 1.00

2 94605007033 pipe assembly a 1.00

3 90105004100 GASKET EXHAUST 1.00

4 94305050172 GASKET EXHAUST 1.00

5 94305051000 Exhaust clamp 1.00

6 90103097000 clip nut 2.00

7 90205086001 muffler mounting spacer bushin 4.00

8 90205068000 damper, bottom 2.00

9 90105000002 BOLT SILENCER MTG 2.00

10 94341090000 Oxygen sensor 1.00

11 J926080003 Hex collar nut M6 3.00

12 J027081053 HH COLLAR SCREW M8X105 SW12 1.00

13 90105084000 muffler mounting tube 1.00

14 90105068100 damper, bottom ONLY FOR NEW
SILENCER VERSION

2.00

16 28305011033 SHIELD ASSEMBLY MUFFLER 1.00

17 93805011003 GROMMET MUFFLER SHIELD 1.00



18 J025060146 HH COLLAR SCREW M6X14 SW10 2.00

19 94005065033 Heat protection, cmpl. 1.00

20 J026060903 HH COLLAR SCREW M6X90 1.00

21 J126061252 WASHER 6,5X2 MM 1.00

22 J926060001 Hexagon nut M6 1.00

23 J028060143 BOLT FLANGED M6X14 2.00


